6.1 Notes — Angles of Polygons

What is the sum of the interior angles of a triangle?

o

Name # of sides # of Sum of the interior angles
nonoverlapping
triangles 180 (1)
Triangle 3 1 (1(180)= 180
Quadrilateral o
A H o 130 (2) =30
Pentagon P
— 5 3 180 (3)=540
el » 4 150 (1) = 720°
Heptagon q
T J 5 180 (1-2)= 00
n-gon (2 N-a [RO(N-2)

|80 (n -

Polygon Sum of Interior Angles Theorem:

int £ Sum =
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Ex1: Find the@of the interior angles of a dodecagon. = |2, 8ides
180012-2) = 18Q0°

EX2: If the sum of the interior angles is 3240°, how many siders\'does the polygon have?

[80(n-2) =3240° [n = 20 sides)|

N-2
+ 2L

= 18
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EX3: Stop signs are regular octagons. What is the measure of ONE interior angle?
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Ex4: The measure ofnterior angle of a regular polygon is 120°. Find the number of

Sides)the regular polygon has.
130 (N-2) _ 0
N
= \20YL
1g0N-340 10OV

osides=nl
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Ex5: Find the measure of each interior angle. S oes = ’-‘/ 150 (4 V=300

3L0 = Wt <+ 2N +4X
w o] L0 = B3X-15+bX +tlLx+10x
3L0 = A5x ~I5

X

yy L1 15)° o |, 15 = X
<W=30" <¢z2=90 «2N=90°
& X =150

An exterior and interior angle are SU.JO@L
[] L ]

Sum of Exterior Angles Theorem:

Sum Exx L = 3,0

EXS5: Find the sum of the exterior angles of a hexagon.

30"

EX6:

o +5x-5 +4xt3 tlx-12 +Lx+ 3 1Dbx45

Find the value of x in the diagram.

SUD':SX + 4%
3,0 = 3\ X -\

EX7: Find the measure of ONE exterior angle of a stop sign.
30 (__ L* 6 : i

EX8: How many sides does a regular polygon have if each exterior angle measures 24°?
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